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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is
givenas .

[\ is the radioactive decay constant]
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Young's double slit experiment, if the source of light changes from orange to blue then :
Options :

: the intensity of the minima will increase.

, the distance between consecutive fringes will increase.

2 the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The relative permittivity of distilled water is 81. The velocity of light in it will be :
(Given p, =1)

Options :

, 3.33x107 m/s

, 4.33x107 m/s
107
3 0:33x10” m/s

107
4 2.33x10” m/s
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Correct Marks : 4 Wrong Marks : 1
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Options :

7
, 3.33X10°m/s

, 433x107m/s

7
53 2:33x10° m/s

, 233x107m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R=1000
X WW
100V T C=1pF

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 1. The time taken for the capacitor to be charged to get 50 Vis :

[Take In 2=0.69]

Options :

;. 0.69x107%s



, 0.30x10™%s
3 1.44x10 4 s

4 3.33%x10 %5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R=1000

100V T C=1pF
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Options :
1 0.69%x10~4%s
, 030x10~4s

, 144x10 45

, 333%x10~%s
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Correct Marks : 4 Wrong Marks : 1
A 007 H inductor and a 12 () resistor are connected in series to a 220 V, 50 Hz ac source.

The approximate current in the circuit and the phase angle between current and source
voltage are respectively. [Take 7 as ?]

Options :

8.8 A and tan_l[%J

0.88 A and tan ! [%J

88 A and tan_1[1—;J
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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{11
tan [Ej s 8.8 A
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tan (EJ 21 0.88 A
{11
tan [?j 2 88 A
3.

tfm_1( 6 ] 8.8 A
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A light cylindrical vessel is kept on a horizontal surface. Area of baseis A. A hole of cross-
sectional area "a’" 1s made just at its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid 15 (a << A)

Options:
d

1. A
2a

2. A
A



4. None of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the given figure, a battery of emf E is connected across a conductor PQ of length I and

different area of cross-sections having radii r, and 1 (1, <,).

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

» Electron current decreases.
3. Electric field decreases.

4 All of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of
dielectric constant K. The potential difference across the capacitors will now be :
Options :

1.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)
Cl CZ C3

K| 3K | K
el «2d>3d-
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A particle starts executing simple harmonic motion (SHM) of amplitude ‘a’ and total energy

‘ e . OB o T
E. Atany mstant, its kinetic energy is o) then its displacement ‘y/ is given by :

Options :
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Two identical tennis balls each having mass ‘m’ and charge ‘g are suspended from a fixed
point by threads of length ‘T'. What is the equilibrium separation when each thread makes a

small angle ‘0’ with the vertical ?

Options :
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic
gas. The temperature of the gas during the process A -+ Band C - D are T and T,
(T, > T,) respectively.

P

A

5By -

i

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.



Options :

N WBC-I-WDA >

, Wap<Wcp
- Wap=Wpc
. Wap=Wsc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Was <Wcep

2.
5 Was=Wnpc
2 Wap=Wgc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cis :

Options :

1. 3 min.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i 30°C ekl Ut dmin BLAEE 59C e « 61C oo
AL SEELAAE 49C 2 51

Options :

1. 3 min.



> 4 min.
3 6 min.

4 8 min.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure
with mean kinetic energy 210~ | per molecule is :

Options :

. DB X10H
, 1.5x 101
3x 10!

4 1630

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. 0.75x 1011



, 1.5x1011
5 3x101

4 6x101

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Assertion A:  If A, B, C, D are four points on a semi-circular arc with centre at ‘0’ such

that |AB| = \BC| - ﬁﬂ, then

—_— — = — —s —

AB + AC + AD =4A0 + 0B + OC

Polygon law of vector addition yields

Reason R :
AB + BC + CD = AD = 2A0
A—9  p
B C

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options:
Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.



4. A 1s not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters
lying on its plane ? Given ‘M is the mass of the larger disc. (MI stands for moment of inertia)

A

/’Ir

Options :
| 2RZ 1%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. (@)-(iii), (b)-(iv), (c)-(1), (d)-(i)

, (@)-(iii), (b)-(iv), (c)-(ii), (d)-(1)

;. (@)-(ii), (b)-(i), (0)-(iii), (d)-(iv)

;. (@)-(ii), (b)-(iii), (c)-(3), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Three objects A, Band C are kept in a straight line on a frictionless horizontal surface. The
masses of A, Band Care m, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit, Thereafter Bmakes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options:

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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; 4m/s

. 9m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aball is thrown up with a certain velocity so that it reaches a height ', Find the ratio of the

h
two different times of the ball reaching 5 in both the directions.

Options :

&%
1%

J3 -1
, 3 +1
1

3.3
42 =1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A:  If in five complete rotations of the circular scale, the distance travelled on
main scale of the screw gauge is 5 mm and there are 50 total divisions on

circular scale, then least count is 0.001 cm.

Pitch
Total divisions on circular scale

Reason R : Least Count =

In the light of the above statements, choose the most appropriate answer from the options
given below :
Options :

: Both A and R are correct and R is the correct explanation of A.



5 Both A and R are correct and R is NOT the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- 2|

X -"(r' r/ il .-b # = |
} i P ¥ el ¥ rd -:' ¥ (4 & i r ) #
e 5mm S 0irl bl (screw gauge) G/ VP2 BLIL Gt/ A

by 0001 cm K Sl b 50 Jrl ki)

LG

-
i ,b"‘
i

. P, be o
LUl = K7 1 R

Options :

< SRR ATO P q;éf;ﬁ” R s A
= oS e s o6 A R s q;éi;ﬁ” R . A
< WER ¢ n..-;'_.épA

- éﬂR._féi;..!zEA

4.



Physics Section B

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

864351825
2

Online
Mandatory
10

5

20

Yes

1
8643511052

Yes



Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation 8 R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘2" is .

[Given : The two planets are fixed in their position]

8R
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Question Type : SA
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In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 x 10 -2 A/ m?

and moment of inertia 5% 10~® kg m%. If it performs 10 complete oscillations in 5 seconds
then the magnitude of the magnetic field is mT. [Take m* as 9.89]
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A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross

section 1070 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

(Young’s modulus of rubber=05x10° N/ m)
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A transistor is connected in common emitter circuit configuration, the collector supply voltage
is 10V and the voltage drop across a resistor of 1000 € in the collector circuitis 0.6 V. If the

current gain factor () is 24, then the base current is _ pA. (Round off to the

Nearest Integer)
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

=14 -14
10.8x 10 nd 112=1‘45+1.8><10
s \2

m =12+

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.
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A particle of mass 9.1x 10 ™" kg travels in a meditum with a speed of 106 m/s and a photon
of a radiation of linear momentum 10=% kg m/s travels in vacuum. The wavelength of

photon i times the wavelength of the particle.
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A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 pF is first charged and later connected with resistor ‘R, If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of ‘R’ should
be (L
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In Boht's atomic model, the electron is assumed to revolve in a circular orbit of radius 0.5 A.

If the speed of electron is 22 10° m/s, then the current associated with the electron will be

B 2
x107= mA. [Take 7 as 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
22108 Jo Ju ALy At At L 05k Bid ol gl o
(A 277 f 0. A0-2mA s F e e ms

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Consider an electrical circuit containing a two way switch'S'. Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 {)
resistor immediately after T, is connected to Tyis V. (Round off to the Nearest
Integer)

R=60 T

[ 1

2, .T3
S1T,
L

i |0

Response Type : Numeric

3()

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R=60 5yt Ty I Ty hrale I su?.ual.f;_f 'S’J:{i)m.gu:m/ﬁ/u*ﬂxﬁw

/ T p-clbbline Ty // he'T)e /[ T i /!ff_dff bﬁﬂ(b’l(,(dtpﬁbd l,ujwf

Ky V (Potential Drop) Jh,ﬂ/ﬁ/ @Lu.ycﬁ:.ﬂj‘r:?)&v{iu"ﬁ_ﬁﬁ;"fg s

(ol u.fmJ{): )

R=60 T

— 22T3

L T v
5%T1
Lz

6V

]r=3ﬂ
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The amplitude of upper and lower side bands of AM. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

a b a
5 V amplitude are ][)V and ﬁ respectively. Then the value of b is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1LV @\'J.u‘}!';s' 11.21 MHz :)JU u'— ,u| —V o / u"f.!p(u:’f'g(,u &;JJ'LS/J'L/J AM. J
_Jﬁ 12 ...f_r.d/w} i / sine 771(H2J JJ’: A }Oﬁibfﬂﬁ«-{ L
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, p=12(,
y=90°. The crystal system of the substance is :

Options :

1. Triclinic
Hexagonal

2.

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



: ugc)’u'l}-.’.‘l,g-:ﬁ (unit cell) J':JKIG;JL‘.Q
vy=90° =120° ca=90° «c=4.0 <b=3.0 ca=2.5

; gﬂf’lﬁidl%ul-

Options:

1 _@JI}

V"%

2.

3. —‘C'JJJﬁZ’T

.,

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I :  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom.
Statement I Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty
principle.
In the light of the above statements, choose the most appropriate answer from the options
given below :
Options :

1. Both statement I and statement II are true.



> Both statement I and statement II are false.
3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: jzémtkné
_ECMG,:L&;J q}ﬁlﬁldzﬂfh f Kl Loty Ly
-gJLﬁidﬂlC‘?{ﬁLJﬁdf y (Bohr's model of hydrogen atom) Ji!‘ﬁ'gfﬂf W/;! gl

.uf?_,mq}w}&éatgi &y

Options:

1 _ugétﬁ” M-k s I-gk

, _u‘?bﬁu;ﬂ M-k o -k
e lok of < & Lok

. e & Mol e sl Lol

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For a reaction of order n, the unit of the rate constant is ;
Options :

. I'ﬂl;}l] —1 L] —n S_]

5 I'ﬂl;}l] —1n Ll —n g

3 I'ﬂ(}l] —1n L211 5—1

4 I'['u}ll —n Ln—'l S_]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D < (unit) dK’JﬁV’C /7' icﬁu"bf"d:?ﬂ n
Options :

3 moll_n Ll—l‘l S

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - II ;

List - I List - II
(a) NaOH () Acadic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
) B(OH)
(e) Al(OH),

Choose the most appropriate answer from the options given below :

Options :

;. (@)-(ii), (b)-(), (c)-(ii), (d)-(iid), (e)-(iii)

, (@)-(i1), (b)-(ii), (c)-(iii), (d)-(5), (e)-(ii)

5, (@)-(), (b)-(iii), (c)-(ii), (d)-(1), (e)-(iii)

5 (@)-(i), (b)-(i), (0)-(iii), (d)-(ii), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



£ P s T o it

| -
7 () NaOH (a)
JU! (i) Be(OH), (b)
e (i) Ca(OH), (c)
B(OH), (d)

AOH); (o)

 GE IR e R s,
Options :

;. (@)-(i), (b)-(1), (c)-(ii), (d)-(iii), (e)-(iii)
, (@)-(i1), (b)-(ii), (c)-(iii), (d)-(1), (e)-(iii)
;. (@)-(i), (b)-(iii), (c)-(ii), (d)-(1), (e)-(iii)
;. (@)-(iD), (b)-(ii), (c)-(iii), (d)-(i1), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement that is INCORRECT about Ellingham diagram is :
Options :

, Pprovides idea about reduction of metal oxide.



5 provides idea about the reaction rate.
, provides idea about free energy change.

, Pprovides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P

¢ f-;_u..*f'muug,vufu:;,;gi (Ellingham diagram) .f‘:”r‘ 1
Options:

= A t‘/ﬁ{fufgﬂé (reduction) iﬁféu:iﬁ(.fTJLm

—c b (idea)y £t N LLASSG

2.
; et E S NSt ST
) e bl B E S AL S ol S

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The product obtained from the electrolytic oxidation of acidified sulphate solutions, is :

Options :

_ HO,S080,H



HO,S0S0,H
2. =

HO,500S0;H
3.

. HSO,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:f:'..J’d e (oxidation)f"f -@J}U CJ¥ (acidified sulphate) &aﬂl‘dl o
Options :

. HO,8080;H
, HO»5050,H

HO,S00S0,H
3.

4. H30,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :

: Both A and R are true and R is the correct explanation of A
, Both Aand R are true but R is NOT the correct explanation of A

3 Ais true but R is false

4. Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
....:'_JFJ § Rom2ryc passle J""J KA-Jﬁ{‘.gi%? éé—-ﬁh:f L'Lf.ﬂ.é.
_Q{J’/:( ;U:_wf; (Lithium halides)flé,f(f?g . A-Sh
-‘T_le(:ffllﬂﬁuiﬂ{?g : Roap
Bl PrL et s

Options:

1 e tSerlnBS AR sl Gusn R A



_,f_r/ufyu;éaJA:R .f,slq;éi)}” R 4 A

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The oxidation states of ‘P in H4P207, H4P205 and H4P206, respectively, are :

Options :

. 6, 4 and 5

5 5 4 and 3

3. 9, 3and 4

, 7,5 and 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el F S P U H PO, s HyP,05 HyP,0,
Options :

. 5. 4,6



5. 3 nl 4,5

3. 4 53,5

4 6 »l 5,7

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [MnClJ*~, respectively,
are

Options :

2o ;
. d“sp” and paramagnetic

342 : i
, SP d© and diamagnetic
3 sp°d? and paramagnetic

A d2sp? and diamagnetic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P SRS MnCLPB- (complex) 4%

Options:

. uf-bl.'ﬁ‘ljg-;ﬂ d2sp3



5 ‘ﬁ-l’l;&élim 5p3d2
N ‘fwbl.‘-z‘l/juul 5p3d2

N uf-bl.'ﬁ"é'i;ﬂ d?sp3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCL,(NH,),|, [Ni(CO),
[Ru(H,0),CL] and [CoCl,(NH,),] * respectively, are

Options :

4,1, 4,4

,2;0,2.2

. 21,84

21,85

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 [CoCLNHg | [Ru(H,0:Cl ([NH(CO), [PICLNHL)] (complees) 55 o

: Jﬂw 7 E:'»U (isomers) uzf/ 7 &L /i

Options :



A
B;052,2
B, 2

B B8

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is NOT correct ?

Options :

, The dissolved oxygen concentration below 6 ppm inhibits fish growth
5 Eutrophication indicates that water body is polluted
3 Eutrophication leads to increase in the oxygen level in water

A Eutrophication leads to anaerobic conditions

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ .‘g.u..""( gbfd/ufaty,gj_i?;ﬂ

Options :

1 _.;_&@}Juy}f{.f_ﬂﬁ; 6 ppm (concentration) J&/ K‘;ﬁ{ T(jﬂf



, -.f_.yUsJLﬂu:)TLdg (Eutrophjcation) ﬁ%’g

, TNt Tu:&gﬁgﬁg

. ,..:;.g/(l&;)/:)'b (anaerobic) ya.d/d/lﬂuﬁ@%fg

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to distinguish monosaccharide from
disaccharide ?

Options :

1. Seliwanoff’s test
, Barfoed test
3 Tollen's test

4. lodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Li/ 74 (disaccharide) 0 Jl 1 (monosaccharide) Nfivs) Lj bf L«uﬁ; U"J it
f ctaid



Options :

. (Seliwanoff’s test) ._*.-j....;fl;&:

, (Barfoed test) S 4

3. (Tollen’s test) &J’Jj

A (Todine test) -1/ 397

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :
Options :

1. Rotamers
5 Mirror images
3. Enantiomers

A Polymers

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 ¢t (conformers) u’j"/w/ (eclipsed) gf; 7l (Staggered):'ﬁcﬁu;; 1

Options :



w b
. (Rotamers) (/s

5 (Mirror images) Jﬁ gfg

(Enantiomers) (//#

. (Polymers) J/ﬁjk

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

)

CH,

@ O, O,
CH2 == CH CH3 = CH2 HCEC

A B C D

The correct order of stability of given carbocations is :
Options :

1. D>B>C>A
», A>C>B>D

, C>A>D>B

. D>B>A>C



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@

CH,
@® ® &
CH,=CH CH,;-CH, HC=C
A B C D
Z ,f__ﬁ:*}é-JJJﬂﬂJ (carbocations) uiégféé,:
Options :

., D>B>C>A
, A>C>B>D
, C>A>D>B

,D>B>A>C

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Presence of which reagent will affect the reversibility of the following reaction, and change it

to a irreversible reaction :

I
CH, +1, === CH; - [ +H]
Reversible

Options:

, Concentrated I—IIO3

, HOCI



, Liquid NH;

dilute HNO,
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
;%u’};‘{‘;f; |JJ|-JE../MU&|}( (reversibility) d{%ﬂ; JJ[}J"G{ d:i;f:?m( (reagent) u"l.& J/
SIEIaLr

CH, +1; = CH, - | +H]

Reversible
Options:
, Concentrated HIO,

, HOCI
N Liquid NH;

dilute HNO,
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following compounds will give orange precipitate when treated with
2 4-dinitrophenyl hydrazine ?

Options :

1.



2.
OH
OCH,CHj
5 O
0O

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(precipitate) .,.fmué:L'/?ngf.lfJf < 2A-dinitrophenyl hydrazine "J/Vc)f; YAy

fe s

Options:

1.



O
1\r::H3

K1::)(:}12(:1{3

2.
OH
OCH,CH,
; O
0
¢—on
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

H-PO BH
0y A (BH;), ; p

120°C (Major Product) HyOy/ OH, H)O  (Major Product)

Consider the above reaction and identify the Product P



Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



OH

H,PO,
—

(i1,

» P

120C (Major Product) HyOy/ O, H,0 (Major Product)

Options:

CH,

o
a

Oy Ox

CH,

o

i Ol
3.

f LOH
4,

A @f PJS bﬁ:lujﬁ}{upw"g&:{ﬂ



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement [ :  Aniline is less basic than acetamide,

Statement I1:  In aniline, the lone pair of electrons on nitrogen atom is delocalised over

benzene ring due to resonance and hence less available to a proton.
Choose the most appropriate option :
Options :

1. Both statement I and statement II are true.
> Both statement I and statement II are false.
3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: %?zé;_,mty.u{;
e GVlfe S (Aniling) o : Ll
o e §H (1ome pair) L2EU3I 1 1P At Aniline) o2 Tl
< L“ﬁ/"’lw( iéd;.!{iurl-f:_-ﬂf’ﬂ delocalised {chf. (Benzene Ring)

iy

Options :

1 _ugé:)ﬁ.ull_u}y. y71p S



, =iy Mgl o Lyl

—c bk TI- sl ;:'_g | O

3.

. _.s:'_éo -l bk I-

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(Drug) (Class of Drug)

(a) Furacin ()  Antibiotic

(b) Arsphenamine (ii) Tranquilizers

(c) Dimetone (i11) Antiseptic

(d) Valium (iv) Synthetic antihistamines

Choose the most appropriate match :

Options :

, (@)-(iid), (b)-(3), (c)-(v), (d)-(ii)
, (@)-(), (b)-(iid), (0)-(iv), (d)-(i1)
5. (@)-(i), (b)-(3), (c)-(ii1), (d)-(iv)

5, (@)-(id), (b)-(iv), (0)-(i1), (d)-(1)



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&/

i
(Antibiotid i ()
(Tranquilizers) ' (i
(Antiseptc) i (#1i)

(Synthetic antihistamines)J ltfﬁj;“l/&{ I (i)

Options :

;. (@)-(iii), (b)-(1), (¢)-(iv), (d)-(ii)
,. (@)-(1), (b)-(iii), (¢)-(1v), (d)-(ii)
;. @)-(id), (b)-(1), (c)-(iid), (d)-(iv)

;. (@)-(iii), (b)-(iv), (c)-(ii), (d)-(3)

Jlelled {18/

[.e/

o
(Furacin) /1% (a)
(Arsphenamine) =647 (b)
(Dimetone)y#”3 (¢
(Valium) %~ (d)

:ﬁgﬁq}qb‘

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The compound ‘A’ is a complementary base of in DNA strands.
Options:
1. Guanine

, Adenine

3 Cymsine

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= Ju (conﬂementary)llhifﬂ A7 % (DNA Strand) (/- fgf1§ 3

[

Options:



- Guanine

—_—

, Adenine

5 C}rtosine

Uracil
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The density of NaOH solution s 1.2 g cm ™. The molality of this solution is
(Round off to the Nearest Integer|

[Use : Atomic masses: Na:230u O0:160u H:1.0u
Density of H,0: 1.0 g em™]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

M:ﬁy ;:P.,; ) em .:x,,zU:’JJ}gJL{. 1.2 g em™3 (density) JLJ/JJ:V NaOH
: J‘j @I 2} S

Na:230u O:160u H:1.0u]

[L0gem-3 X HO
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0

X
The difference between bond orders of CO and NO® is 3 where x= . (Round

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(,m@:ﬁgq}%})x= % il NO® i O

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



For water at 100°C and 1 bar,
.. H=N.. U= X102 ] mol =, (Round off to the Nearest Integer)

vap vap
[Use : R=831] mol 'K~ ]]
[Assume volume of HyO(l) is much smaller than volume of H,0(g). Assume H,0(g) can be

treated as an ideal gas|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Byap H=Ayp U= 102] mol 1/ 1 bar 1 100°C £.L,

(Uf:ﬁgg}{):;%;)
(R=831] mol~1K~1: (/61

e AR 100 fere AL 10t F¥ B0 AP

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242%1073 bar.

The molar mass of the biopolymeris _ x10* gmol ™. (Round off to the Nearest

Integer)
[Use : R=0.083 L bar mol~1 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ST 240%10-3 bar ,.:.,-.wfu” 100mL LU 300K 146 g ¢ (biopolymer / ) d e

2 X104 g mol -1 2 ﬁwgw{.w (osmotic pressure) 4

(R=0.83 L bar mol~1K~1: /e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Type : SA
Correct Marks : 4 Wrong Marks : 0

PCl; = PCly+Cl, K =184

3.0 moles of PCls 1s mtroduced ina T L closed reaction vessel at 380 K. The number of moles
of PCl; at equilibriumis  X10~ 3, (Round off to the Nearest Integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IWSSIL PClg oSy gr bty 380K U2 eg6isd 1L Jy 3.0 £ POl

- F

(ol L eef?) x10 3
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The conductivity of a weak acid HA of concentration 0,001 mol L™ is 20%10 ™S em ™

LIt

A{;n(HA):190‘34:1‘112 mol ™!, the ionization constant (K,) of HA is equal to

x107%. (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

¢ 20x10-3S em~" (conductivity) 4 0001 mol L1 HA Al

Sl X076 () B (VA « 47 HA) - 05 en? ol
(ifis))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0

CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.

X102, (Round off to the

The value of n in the Freundlich 1sotherm equation is
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L_r / w "

I (_O':- :.f, AL (Freundlich adsorpt ption isotherm) J*/fo i w‘/

= il ”L n

b ,. b
(mass)edui 1 ¢ CO, LL Ao n o&s-ct (adsorption) s 7 (charcoal)

. ! l.. (il 4t Y 4 1
J+ (Freundlich isotherm equation) ""wv-—ﬂ’ Wbl il COp o2 & (bnt o4

e VL

-

£ - . “
(s (ef Fei))- X102 by &4

e

n
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Text Areas : PlainText
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1
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Correct Marks : 4 Wrong Marks : 0



The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in
trioxalatochromate (III) is Y. Then the value of X+Y is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

J (geometrical isomers) /+ e (triamminetrinitrocobalt) (Ill) & }Gj‘ JL’J' ld'/
{.J J X+ Y.:.F'_;:.Y.*U:jfuf (trioxalatochromate) (III)&{:/ ,tl/ TJ b X o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In gaseous triethyl amine the “-C-N-C-" bond angle is degree,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- ti(degree) dﬁ g = C-N=C-" (triethyl amine) ﬂ'JiﬁiJ'}p{
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 g of chlorine.
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the
Nearest Integer)

(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1o b (choring) ¢ 450 g L e TS LIS 0

< b gl 0389 g (Carins Method) e &/ AgNO, o7 055 ¥ A o7
(oligih) b iy KA

g
355 410787 P 72 CLalkg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A
Section Id : 864351828
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1

Sub-Section Id : 8643511055



Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes

through origin O. If OC is perpendicular to both the line segments CP and CQ, then the
set{P, Q} is equal to :

Options :

(2 +2v2,3+5), (2-24Z,3 - 5))

, {(2+242,3-45), (2 =242, 3 +5)}
, (=15, 6, 1)

, 14,0, (0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s OC.c b0 irinle. O, 3) K g B iz b5.35 Qo 2 2
_,:'_/,IJ,J:J/ {P,Q} &;J:{.:f{ CQ ! CP (line segments) T

Options :

(24242, 34 45), (2-2J2, 3 - 5)}

{(2+242,3-45), (2-242, 3 + V5)]

2

, ((-1,5), 1)}



. 14,0),0,6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E N A A — A A A
leta=1i+j+2kand b =-i +2j +3k. Then the vector product

(:+§)x ((;x ((:—;)x g))x g) is equal to :

Options :

M M M
: o\30i -85 +7k

A M M
5 2\ 1 =By +7k

A A A)

, 5(34:‘ ~5j +3k

A A A
A 7\341 —5j5 +3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

[ = A A =] A A A ¢
(vector product) .,f/Jila,;‘“u.,J’ b=-i+2j+3ks a=i+j+2k iuﬁf

_::.Jilz:cﬁg/ e ik (? + E) X (? X ((? z g) X g)

_>
X b

Options :



I P FaN
: 5(3[)'!. —3 ] +7k)

o AN Y
, 713070 =55 +7k

A M A
5(341'. ] ks 3k)

A
{

P FAN
7\3: —5f +3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of 1’ in (xz - bi] and 17 in (x - bl—z] ,b# 0, are equal, then the
. X X

value of b is equal to :

Options :
1, — 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1 11
. 1 . 1 p
(coefficients) .,.,;/’J: 7T Rb#0 :(J: - b—zj /¥ ol TREY r(xz + b_] /]
X A,

Sl fe pfocd byl

Options :
1. 1=

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

R ={(x, y) :max{0, log.x} < y < 27, % 2,
is, a(log,2) ~ +p(log,2) +7, then the value of (a+p~ 2v)? is equal to :

Options :
1. 1



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=xs 2} M:’f_ﬂf_ﬁ[ﬁ

g | =

Sk R= {(J:, y) : max{0, logx} < y < 2%,

redd (@t B- 292 e afloge2) 1+ Blloge2) +y
Options :
1. 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A=

12 .
» J. If A‘l=aI+BA, o, f e R, Tisa2x2 identity matrix, then 4(a—p) is
equal to:
Options :

1. 2

2. 4

w
@]



W | oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
; 12
(identity matrix) S 2% 11 A-1=al+BA, 0, BeR /I A= {_1 4] ’,éL‘JL
_Kmb:ciufaddl Ya-p) Fe

Options :

1. 2

2. 4

w
8]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point P(-1, 1) to the circle ¥+~ 2r-6y+6=0. If
these tangents touch the circle at points A and B, and if D is a point on the circle such that
length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options:
1. 2

2. 4



5 (3v2 +2)

. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A A L@ﬁ/’lsdt@ﬁqﬁl@?_& (tangent) Wine P(-1,1) By 12+ 2~ 2r-6y+6=0 1/

§ ABD &b st Al AD o AB S LA e Bifiph D g dAryB

_jﬂd dauym;g}
Options :
1. 2
2. 4
, (3V2 +2)
. 32 =1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let C be the set of all complex numbers. Let

S,={z e C| |z—3-2i*=8},

S,={z e C| Re(z) =5} and

S,={zeC||z—-Z|=8}.

Then the number of elements in S; NS, N S; is equal to :

Options :
1. 0

3. 2

4. Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
JUL—-‘:—-:'fft-gélﬁlﬂﬁbﬁvrﬁ C "'éul,
S;={zeC||z—3—-2i]2=8]},

S,={z € C| Re(z) =5} !

S;={zeC| |z -z =8].

TSN 51N5;NS3
Options:

. 0



4. .U,.JU

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (=1, 0, —2) and perpendicular to each of the planes
2t+y-z=2and x-y-z=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to

Options:

1.9

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A ty-2=2 ugr"v’,ulf:".t'j; (-1,0, -2 ﬂﬁféu?/'fax+by+cz+8=0 gl
Jﬁaf atb+c .....‘-L:".glmﬁugﬂgj x-y-1=3

Options:

.9



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
2

e

Let o, B be two roots of the equation x* + Q0% x + (52 =0. Then o + % s equal to
Options :

, 100

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fmb:f.;/a%d' o8+p8 L fiend 2 L (20)}1‘ . (5)% = bl B
Options :

. 100

2. 10

3 90



.. 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: (—E,. EJ — R be defined as

3a

|sinz|
(1+ |sinx|) ,—E{xﬁﬂ

flx)= b ,x=0

b v o T
acotdx/ cot2x < pe 2

)

If fis continuous at x =0, then the value of 6a +b? is equal to :

Options :
1 1+e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



-« (defined) uf’@)’db’éj/f [ ( i 4] - R JL@.{I

3
ITNE]
(1 + [sinx]) ,—E*’JI{O
Flxr= b &=
EcoLéx/mLZx CD<x< w

_JﬁQEJ 6a + b2 ._,::q:-_JJQ x=0,fj|

Options:
1 1+e

2. 1—e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 202+ 2y2—2x -2y =1},

B={(x, y) e RXR | 4x*+4y>— 16y +7=0} and

C={(x, y) e RXR | ¥?+1P—dx -2y +5 < r?}.

Then the minimum value of |r| such that A u B c Cis equal to:
Options :

& 4 10
1, 2



, 1++/5

2 4010

3+25

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
)
A={x y) e RXR|2x2+2y2-2x—2y=1},
B={(x, y) e RXR|4x2+4y2—16y+7=0} sl
C={(x,y) e RXR |x24+y2—4x—2y+5 = r2}.

AUBcC Ly dnfedfe x| &
Options :

3 + 10
1. 2

, 1++/3

2 + /10
3. z



3+ 243

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the following data :

6, 10, 7,13, a,12, b, 12

37 : 7 .
are 9 and — respectively, then (a—b)= is equal to :

4
Options:

1. 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 ‘ ¢
'J/ i) (a-b)? Je 9 E7 o )L:@Uw‘(ﬁnl;wm 10,7,13, 4,12, b, 12 : (data) {31

gl

Options :
1 16

> 12



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, [1—”} =3x + 4y, with y(0)=0.
dx

)
If y(- 3 IDgEQJ = a log,2, then the value of « is equal to :

Options :
1

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



p 1 " .
e y=y(x J’K p(0)=0 of loge = =3ty el (3 &L‘)L
= Y= y o

/o . -
-mefu(a.,.? y{—glogg) = a log,2
Options :

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If sinf + cost = 2 then 16(sin(28) + cos(46) + sin(66)) is equal to :

Options :

. 23
2. =23
3, 27

4. —27



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

, 1,
L 16(5in(26) + cos(40) + sin(66)) > « Sinb + cost = 5 Jl

Options :

1. 23
2. =23
3 27

4. =27

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is
a multiple of 3} is equal to

Options:

1

1. 2

N
WM G | =

O | =



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e neN: (n-2)isa multiple of 3 exL el (2dight) yrir 2 £ Fr

,:"_JLBI
Options :
1

1. 2

N
U3 |

3 | 2

o
TN | e

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be :



Options :
2x—7y—39=0 or 2x—7y—7=0

1
5 1Ix+7y+8=0 or 11x+7y—15=0

3 2x—7y+29=0or 2x—-7y—7=0

A 1Ix—-7y—8=0or 11x+7y+15=0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

jl .-L&Jf‘; 53 Jz'%slc*_&n reflect JE} M/ jaxis) -4 < (21 ,WLMH
g = ‘ L P2 y ¥

w1 , " ;
(directrix) Mdfh,( (focus) J-*Ld"/;slf_ 3 (eccentricity) f/@;ﬁ KJ}-{..M:;JJHJ L'bguf J@

/ 8
I Jﬁablﬁ‘(,(kﬁd:k; P E e
Options :
. 2x—7y—39=0o0r2x—-7y—7=0
11x+7y+8=0o0r11x+7y—15=0

2.

; 2X—=7y+29=00r2x-7y—-7=0

11x—-7y—8=0o0r11x+7y+15=0
4,

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The compound statement (P v Q) A (~P) = Q is equivalent to :

Options :
, "(P=9Q
. PaA~Q

2

, FP=Q)&PA=Q

2 PVQ

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i‘.:'_J:L:LJ ¢ (PvQ) A (~P)=Q (compound statement) ugJ/
Options :

. T(P=Q)

5, B A0

, “P=>Q oPA~Q

4 PvQ

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f: R — R be a function such that f(2)=4 and f'(2)=1. Then, the value of

. .
lim M is equal to:

x—2 =2
Options :

1. 4

2. 8

3 12

4 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e i £ 0) - 4£) & f'Q=14f(Q)=4 S L) Sid [ R-RES)

12 y—2
¢ fu
Options:
. 4
2. 8
3 12
4. 16

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

.1
The value of lim — Z

n—ee 1N

Options :

3
5 + log, | =
oy

Question Type : MCQ Is Question Mandatory : No

j:

1

(2j —1) +8n

(2j — 1) +4n

Correct Marks : 4 Wrong Marks : 1

Options:

q
5+ 1 —
ool

q
1+21 =
, 1r2one[3)

-JﬂJ'JLUJ/JJHJ;JM&EJ gf;n Z

is equal to :
(27 —1) + 8n
(27— 1) + 4n



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

ar

& dx
J 1 + o¥COSXYy (qi 4 4.
_%( e ) (sin”x + cos x)
is equal to :
Options :
T



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
, . f dx ;
_J!ML{LJJ:J“J,.?JFQ{’,J_EQ + excos,\:) (sin4x + cos4x) ,L;*u

Options :

——

&

1. 2

w
[\.'J|:]

Mathematics Section B

Section Id : 864351829
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Sub-Section Number : 1



Sub-Section Id : 8643511056

Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the point (3, 7, —7) and contain the line,

1= y-3 z+2
-3 2

. 1f distance of the plane P from the origin is d, then d? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
x-2 y-3 z+42

pd}fﬂ_,‘-_uﬂi 7 5 = ] J::IJL,’}'JJL.T.L“JJ:(L(S,7,—ﬂbﬁﬁ«";dﬂ-gpéﬁ

o u 2 e d U/JJJLPl,&r/‘J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sinzx -2 + cc:szx Ccos2x
Let f(x)= (2 + sin’x cos” x cos2x |, x € [0, 7].
sinzx mszx 1+ cos2x

Then the maximum value of f(x) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

sinzx -2 + cnszx cos2x

i 2
f(x)=|2+sin"x o8~ x cos2y |, xel0, 7], P
) , zJ/

SIN°X CO8° X 14+ cos2x
= -
- Jﬂ.:.«f’, (maximum) u'gj.:,...,.wJ Fles

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let F: [3, 5] » R be a twice differentiable function on (3, 5) such that

F(r)=¢™ E(Stz + 2t +AF()L,

neP - 24
@ -4

If F(4)= then -+ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@, 5) S L ANSi iG AL F: [3,5] 5 R &)}
F(x) = e j;(atz + 2t + 4F'(B)dt

aeP — 224

F-p

Kl arpo )=

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o SO A U\ S A W e =+ A

VA \ A 5 5 -5
Let a=i+j+k band ¢ =j-k be three vectors such that 3 x b = ¢ and

- - - o
a b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is, then

the value of 3/ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
];-gﬂﬂ' ;xg=? SN '!U’ g=j- ﬂ' 2:?+7+££uﬁ/
OLJJJ“ (projection) Jﬁs/ Jb 1 fJilp/LU{ £5° JJJVJJ/I}( Ty ,;r"
5 J;u’(,( 32 J:glufwfjgf (-axis) 8 x

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the domain of the function

f(x) =logy (1035(1033 (18x — 2% - 77))) be (a, b).

Then the value of the integral

J;b sin® x ”
1
(sin’x + sin®(a + b — x))

1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



ﬁ.,}’f:". (a,b) (domain) sw§ f{x)=logy (]0g5(log3('18x - ‘77))) JWJJJJ’/
P T : 31
.Jm,l,;i JJ J = dx (integral)

d (511133: + si113(a +b- 1))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

, . 7
If log,2, logs(2~5), logs [21 . E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

_Jyﬁf,lzcﬁ J J X J:ufufﬁ@db?log_g[f = 9 logs(2*-5) log32/]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and 3, consider the following system of linear equations :
xty-z=2, x+2y+taz=1, 2x-y+z=p.
If the system has infinite solutions, then a+p is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
LA L s LB o el B
x+y—z=2,x+2y+az=12x—y+z=.
NTyre a+p gr%?fgﬁﬁtlﬁrwiﬁu?upﬁ

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
LetS={1,2,3,4,5, 6, 7). Then the number of possible functions f: S - S such that

f(mn)=f(m)f(n) for every m, n e Sand m'ne Sis equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
J’q_a/bfm_&zj‘fuw f:S—S e bl:br S=(1,2,3,4,5,6,7) &5 7
” dmneS sneS am / f(mn)=f(m) (n)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), yl{of %) is the solution of the differential equation

se¢ y% = sin(x + ) - sin(x - y) = 0, with y(0) =0, then Sy’G] is equal to .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

< Flue Sire SEFES L y=y(x), v € [U’ gj

sccy% —sin{x +y) —sin{x —y)=10
X

g J’ﬂ_:.,,,gg 53’@]4‘ y(0)=0 olf

Response Type : Numeric

—

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let f: [0, 3] - R be defined by

f(x)=minfr=[x], 1+[x]-x]
where [x] is the greatest integer less than or equal fo x.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in
PandQisequalto .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2w o o] Ui fl)=minfe- [, 1+ SPUAN 03 R
-;:_/,b:ﬂuf' e
clnffeindQ ﬂ'f{-Jy FUlgagsiy xe[0,3]) c bl frerdi P E )
< (not differentiable) /i) P [ty xe(0,3)
bkl QP o

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1



